Statistics – OR 155, Section 2, Homework  # 12
Due:  Thursday, April 12, 2007
8.11,   8.15        Do both best-guess and conservative CIs

8.21

8.25        give a “conservative” answer

8.26   (81),     give both “best guess” and “conservative” answers

8.22a  (0.0057),    8.23,     interpret from both yes-no and gray-level viewpoints

Make 2-way bar graphs, and discuss relationships between the divisions,  for the data in:

9.1      (younger people tend to be better educated) 

9.9       (you try these…)

9.11

1
2

